
2006 Mathsmind Year 10 Answers 

 Question 

Number 

Answer  

 1 
 

$26.30  

 2 
 

A) 6  B) 9  

 3 
 

60 000 000 or 
60 million 

 

 4 1092  
 5 

 
$3.50 and $6  

 6 
 

60  

 7 
 

23cm  

 8 
 

4  

 9 
 

8 000 000 or 
8 million 

 

 10 
 

30  

 11 
 

15  

 12 
 

19  

 13 
 

34, 64, 82  

 14 
 

66  

 15 
 

160.5604 or  
160 and 5604 

ten thousandths 
(or equiv) 

 

 16 
 

288cm2  

 17 
 

Glenn  has 24 
and Jason has 48 

 

 18 
 

362 916  

 19 
 

1957  

 20 
 

100  



 


